
tocat-pi	 ft- r fl uso, wzrEg
ta-TfttrcP •(-1=4 2021-22 4116 141(11-EN

3MT-4-914Z-02
- TiTt

ft-R. Trq	 P4111,tiv(
Instruction :— Attempt all the questions as per given instructions.

W9- 1 a-TR:r	 vi-r	 uqr -mt-11-11 \3-g Elt-Trr 34 q ,< '<6') 4 1-qp_R-1 call
k-11 42 arm	 34-41-1- 4 call	 ctici6K

3i---(1+2=3) 7l64	 411-50-75

	 -I 2 (3T) " 4-11a cl1A"	 r ct)d , 	-r+-R4 q cm	 P_Tr?
"fliacitell"	 T	 3i--a 4 ei1 4 1 3p=r4 t.k . co	 to	 cv_41 uit•)	 d 41	 2-42

(2+2=4) 1-osq 4411-75-100

	 .1 3 (3T) t-434	 Ati=rrtr	 V-1 14	 RA-4i r c1-e41 3frzrzr
r t1 4-1R-1 fit	 	 	 A-r4 fa-ft7

( i) 	 	 (ii) 410 51 Y'1

(2+2=4) 1 64 Ail-11-75-100

	

R -1 4 (3T) f '1 c11 4 1-* .erz.T 1 --ff r-Ot t, c ctL11—ct441 6	 01 *?

.3-t-mi 4 3T-6-ff -vi=rdd-r	 A ctq l—ctq l 	 q 16 •01 ftq. *?

31 5 (2+2=4) YIis4 fl1-75-100

-C179. 5 3T-Efitfff 31148 ff 4 1 Si I Y ct-)) 1404r<	 i'47—Tr	 9791-* .3k-Kt<

, 111Hui A A-F 34 Ail ITP44r1 t	 	  (1)41 *1 411 n31 4 writ
4	 61c) t 1 31-r-A--d--	 ITrizr-i-rt A 	  444 TrtrA	 --r4 -161

F+-zrr 614-4	 aiM-EFR 3 E0-60 f441- 0-r	 tt
t I t-i* 31-K9. >	 r 3N	 f49-r amt t	 cr) ,	tr

Rft14-r	 coeilcm) A 	  	  fd-Pr	 codi3437) %\,-IRATIct f+-zrr, 	 r 31-m-
tiirtr	 t

eg1P'

st) 4V1. 	 02
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uI 61 6 4-1 311T4	 chi 4 l ci 1 ct) .)	 faR 55m ct	 c t, t i1=m
co	 ,	 31-14.-N	 31T-44 fi	 r t, Rrmcbt 414-9- 7r-4

t 9-a-r	 5 c	 1Irit7 I	 WI cp	 cile) rll	 i t qc14\51-141 61k) t,
"Wr \3^-P-11 cb 	 kZ1-	 3-c-Q1Tff chi M7-4	 34-cF9T	 3TEF4 	 71

TT 311:R ct) kJ-11c) t t

M71 1. .2-1Trzgit c1) 4 1 fl 111\31 c61 with- 4 f+—Tr mcw	 61k) t?

M71 2. T4:0 TURN 4) 61 'WO 6)c-1 *?
M71 3. ed"4-TRTITI	 ct)clI chk) l \T9rtc11 cpI
M71 4. 64 WI W-1) ct) .-11	 -Ff67?
M71 5. 31144ff 4 1S1i71 T 3t4d.

3,1--(1 X5=5)	 1641i) 4-11-100-150
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